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Question: 1

Refer to the exhibit.

In the event of a failover, which statement about the configuration shown in the exhibit is true"'

A. Once the unit has recovered from failure the mode of operation changes to slave.
B. Once the unit has recovered from failure it goes back to its programmed state of master
C. Once the unit has recovered from failure it stays in idle state until it is manually configured as master
or slave
D. Once the unit has recovered from a failure it shuts down.

Answer: D

Question: 2

Refer to the exhibit.
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An administrator has configured FortiVoice Advanced Setting for a user as shown in the exhibit.
Given this configuration, which statement is true?

A. The extension can be reached at 3761 when user is remote.
B. FortiVoice is configured behind a NAT device.
C. The user extension is currently disabled.
D. The user extension is configured for SoftClient use.

Answer: C

Question: 3
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What is a Page Group?

A. A group containing saved fax messages to be printed.
B. A group of extensions that can receive a page from another extension.
C. A group of available extensions to receive queued calls.
D. A group of extensions that are waiting to be configured.

Answer: A

Question: 4

What does the caller ID modification option do on managed gateways?

A. Allows the reception and relay of caller ID out on the trunk
B. Allows the relay of the caller ID from FortiVoice out on the trunk
C. Allows the reception of caller ID on the trunk and passes it to FortiVoice
D. Allows the application of caller ID modification rules to the trunk

Answer: A

Question: 5

For which purpose can the Pickup Group be used?

A. To update names in the directory
B. To email transcripts of voicemail to users
C. To make calls to any specified phone number
D. To allow you to log into another extension with your extension number

Answer: D


